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1. oo IR wm Teehr AR e - 1x3=3

Choose the correct answer from the
following :
(a) <O S ¥RT FIRA

For an ideal solution

) AGg, =0
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(b)

()

22P/228

(2) -

(ii) AHlmx =0

(i) AV, =0 -

(iv) TITT SRR
All of the above

@ (P! SRR SR RIS SiReE
@rRe

Which of the following ions has. highest
ionic conduc;gnce?

) H*

(@ OH~

(iij) NHZ

(iv) NO3

Pt H, (g)|HC] ©f¥aR S (FHOR ST
TR 2

The electrode, Pt, H, (g)|HCl is reversible
with respect to

i) Cl- SRH
| Cl™ ions

(i) HCl
(i) H* SRS

H* ions
(iv) H* S Cl~ g

Both H* and Cl~ ions

| ( Continued )

(3)

UNIT—I

2. @ R @A I 2k e ot 3x2=6

Answer any two questions of the following :

(@ G2 W TR e %&? LEC

(b)

(c)

22P/228

o7 435 IR R 27 Agey ¥R Ry’
A 2 1+1+1=3
What is an azeotrope? Why it cannot be
separated into its constituents by simple
distillation? What is meant by minimum
boiling azeotrope?

=9 ST R 7 I o IR e g
T cwge & R 56 qmes 23 @ 1+42=3
What is steam distillation? What
conditions should be fulfilled by -the
liquid for carrying out steam distillation?

TR W T IR Q7 Re-e wge
()0-1 M NaCl 9% (i) 0-1 M Q3T ks
Q1 3 TR 7 TRwore & qo@ AR 2
‘ 1+1+1=3

What is critical solution temperature?
What will be the effect of adding

(i) 0-1 M NaCl and (i) 0-1 M succinic acid

to phenol-water system?
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(4)

UNIT—II

3. oo R WA o1 2 Tew forv - 3x2=6

Answer any two questions of the following :

(a) @ TR R oqes forn - 1%x2=3

Write briefly about the following :
() VOB’ Iy

Metastable equilibria
(i) ToIHF Rg

Eutectic point

(b) TTFR O ARER A SR T 1 3

Discuss the phase diagram of sulphur
system.

(c) oo fomn RIFAPTIR o, Teone o Foguma
Cforea - 1%x2=3

Determine the number of phases,
components and degrees of freedom in
the following equilibria :
i) NH4Cl(g) ==NH;, (g) + HCl(g) if
: Pyn, = Pua
(@) PCls(g) ==PCl; (g) +Cl, (g) when
) Ppc13 # Pc12

22P/228 | ( Continued )

(5)

UNIT—I1I

4. ST R} @I 9B o) Te o 5

Answer any one question of the following :

(@) T “RARE oF TR ARARER

fam
oMY @gere KCl, KNO; 9% AgNO,T
208 KS T*qR “iRIf¥el Sy

0-01499 ohm ™! m?2 mol ™},

0-01450 ohm ™! m2 mol~],

0-013334 ohm ™! m?2 mol™!
% THE[S AgCH Y a[gere VAR«
ISk 2+3=5

-

Define equivalent conductance and
molar conductance.

The molar conductance at infinite
dilution of KCl, KNO; and AgNOj; at
298 K are

0-01499 chm™! m2 mol~!,

001450 ohm™ m? mol~?,

0013334 ohm™! m? mol™!
respectively. What is the molar

conductivity of AgCl at infinite dilution
at this temperature?
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(6) (7)

(b) BT ST <R3 TR 2 2 oA Ao GROUP—B
TS (FCALF TR I 7
: 3B
TR e m@r IRMRD forar | 2+3=5 Paper : GE/DSC-
What is meant by transport number of ( Organic Chemistry )
an ion? How is it related to ionic '
mobilities? ( Marks : 27)
Write the principle of moving boundary
method. . ‘
UNIT—IV 6. ©S RMAARE ©% %qu%l?mi ferea - 1x3=3
5. @R R @ Tt 2 Teq forgy 3x2=6 Choose the correct answer from the

Answer any two questions of the following : following : :

(a) <o 73 pH Ry IR FaRg’s oo (@) =S P Rete @FoR See R
CFAF I TN W2 hRee GR? |
Rt Ry 2+1=3 Which of the following has the highest
Discuss how the quinhydrone electrode boiling point? .
can be used to determine the pH of a ' i) TR
solution.

What is meant by ‘salt-bridge’? Pentane

() QPRI Z . ¢%. B2 W @ Ay 7 (i) 2-CFOFE
_q? 1+2=3 2-Pentanol
What is e.m.f. of a cell? How is it
determined? (i) 18T

() Rerfee @R 7 Rerfw cma wpfs- , 1-Chloropentane
R 2 Sotoimm 1 4 3 :

What are reversible cells? Derive . (iv) CFoRRT afke
thermodynamic expression for a Pentanoic acid

reversible cell.
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()

(c)

22P/228

(8)

Rufeer e ARG ST s R TR
Beom FRT

Methyl amine reacts with nitrous acid to
form

() CH;—CH;
(i) CHz—OH
(i) CH;— NO,

(i) CH3—CH,— OH

Wﬁﬂmﬁﬁsmmm
=9 '

Which of the following is not a
monosaccharide?

() T
Ribose
(i) 3"

Fructose

(i) 7

Sucrose

(iv) 'S

Glucose

( Continued )

(9)

UNIT—V

7. G2fbF GRSy WART ST M IR IR AOLF 78

RIS

Molecular weight of acetic acid is double

than the calculated value. Explain.

3q1 / Or

were fraraRT wifie o RS Fe SiewRT

Arrange the folli;iving in order of increasing

acidity :

Cl—CH,—COOH, Br—CH,—COOH,
CH;—COOH, CH;—CH,—COOH

8. worS frmr RIGAIR 7o 1 :

Complete the following reactions :

(i) CH;—COOH + P,0s—> ?
COOH

- (ii) @ +80Cl, —> ?

22P/228

1x3=3

( Turn Over )



( 10 ) _ : (11

9T / Or ST/ Or

TS FARAR e IResse $RAT 2 1x3=3 T fit RSP srepe 1 - 1x3=3

How will you synthesize the following? Complete the following reactions :

(@) 2 Tl o/ RGBT ' () R—NH, + CHCl; + KOH (alc.) -2 .7
Acetaldehyde from ethyl formate N,CI™
v : (ii) @ HBF,
(b) <G FAXTT [ 7o ke NaNO,/Cu

HeCly

Acetic acid from acetyl chloride
(i) R—NH, + CS,—————> ?

(c) <RI o[ 2T @wizw

Ethyl amine from acetamide 10. cTRcTE CARRIRS e RS ARGR Wi QT
| aFS 7 . 5

How can you prepare primary amine by
Gabriel’s phthalimide synthesis?

UNIT—VI
¥e{T / Or
9. Rl *feq e ARGRY, e’ e SRiRER
AR T FTF A 3 mﬁ ’%@Cgmﬁ Www S g

How will you separate a mixture of primary,
secondary and tertiary amines with the help
of Hinsberg method?

Discuss the relative strength of basic

character of primary, secondary and tertiary
amines.
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11.

12.

22P/228

(12)

UNIT—VII

o~ SIF B-D-3F " TN ATH LT TS S
0 2

Draw Haworth projection formulae of o- and
B-D-glucose.

< / Or

woTe RIART STAPR sov-TFe B : 1x2=2

Give one example with their structure from
the following :

(a) <1 Rb'c’w

A ketohexose

(b) B GBS
An aldotetrose

FIEI TR W Re s #01 3

Discuss the open-chain structure of fructose.
93T / Or

oS AR (T TS FRA1?

How can you convert the following?

(a) I [ FF®

Fructose to glucese

1%x2=3

( Continued )

13.

14.

22P/228

(13)

(b) FF'TR R ARRAS

Glucose to arabinose -

LEF o ARG IR RIS TR Ko [ Teom
2’37 Rigwawdr forn | | 1

What happens when glucose is oxidized with
conc. nitric acid? Give the reaction.

UNIT—VIII .

SRORSEA" B 9 | 2
Explain the term ‘Zwitterion’.
ors fie @i’ fReTER eifiRen # : Yax4=2
Classify the following amino acids :
(a) aifoR

Glycine
b) PRe e

Glutamic acid

(ﬁtm Over )



(14 )

(c) =nfoq

Lysine

(d) <=t

Alanine
15. R eRe Rfs IR 2B @rF MRem
a2 _ ‘ 2

How would you classify protein on the basis
of structure?

%241 / Or

1 R o 9 SRS B @ 'R 3 e
IR AR '

Give two tests that identify the given
substance is a protein.
16. oo frq RiARAR S=of 741 : 1%x2=3
Complete the following reactions :
. anhy. HCI
() R—CH—COOH + C,H50H > ?
s

o) :
y Il
(i) 2H2N—CH2—C—OH + Cu2t ——> ?

22p/228 ( Continued )

(15)

531 / Or

AR GRTT PRI R R M FML 3

'Expla.in 4soelectric point’ with regard to
amino acid.

17. amwﬂmﬁ@ﬁmww? 1

How do proteins perform in human stomach?

* %k
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